
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Eksponenter på 10

−1 × 10 =5 9, 82 × 10 =4

−1 × 10 =2 1 × 10 =0

10 =4 10 =5

5, 48 ÷ 10 =0 10 =6

5 × 10 =3 1, 51 × 10 =3

10 =4 6 × 10 =3

10 =3 5, 94 × 10 =5

5, 32 ÷ 10 =2 7, 22 × 10 =3

10 =2 8, 66 ÷ 10 =0

10 =3 9 × 10 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Eksponenter på 10

−1 × 10 = −1000005 9, 82 × 10 = 982004

−1 × 10 = −1002 1 × 10 = 10

10 = 100004 10 = 1000005

5, 48 ÷ 10 = 5.480 10 = 10000006

5 × 10 = 50003 1, 51 × 10 = 15103

10 = 100004 6 × 10 = 60003

10 = 10003 5, 94 × 10 = 5940005

5, 32 ÷ 10 = 0.05322 7, 22 × 10 = 72203

10 = 1002 8, 66 ÷ 10 = 8.660

10 = 10003 9 × 10 = 90
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